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Worksheet by Kuta Software LLC

Math 1

PRACTICE Quiz 4.3 - 4.4 More multiplication & Division of exponents

Name___________________________________
©\ o2z0Z2I0u _KHuRtuaT rSHoUfftawVayrWeU ILJLNCb.v t WAvl]lA mr\iVglhrt`sv RrCeSsmegrtvFeWdx.

Simplify.  Your answer should contain only positive exponents.

1)  (3mn2)-1 2)  (3q)2

3)  
3r-3

r
4)  

3p-3

4pm-1n3

5)  
(2v2)3

v2
 × 2v-3

6)  
(m-4p4q2)3

m-1p3q3
 × 2m0

7)  
2x-3y2

(2x-4y-3)2
8)  

pm3n0

(2mn-2p-1)-3
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Math 1

PRACTICE Quiz 4.3 - 4.4 More multiplication & Division of exponents

Name___________________________________
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Simplify.  Your answer should contain only positive exponents.

1)  (3mn2)-1

1

3mn2

2)  (3q)2

9q2

3)  
3r-3

r

3

r4

4)  
3p-3

4pm-1n3

3m
4p4n3

5)  
(2v2)3

v2
 × 2v-3

4v7

6)  
(m-4p4q2)3

m-1p3q3
 × 2m0

p9q3

2m11

7)  
2x-3y2

(2x-4y-3)2

y8x5

2

8)  
pm3n0

(2mn-2p-1)-3

8m6

n6p2


